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Question81:-Read the following passage carefully and answer the questions given
below it.

| must have been seven when my father left Porbandar for Rajkot to become a
member of the Rajasthanik Court. There | was put into a primary school, and | can
well recollect those days, including the names and other particulars of the teachers
who taught me. As at Porbandar, so here, there is hardly anything to note about my
studies. | could only have been a mediocre student. From this school | went to the
suburban school and thence to the high school, having already reached my twelfth
year. | do not remember having even told a lie, during this short period, either to
my teachers or to my classmates. | used to be very shy and avoided all company.
My books and my lessons were my sole companions. To be at school at the stroke
of the hour and to run back home as soon as the school closed - that was my daily
habit. | literally ran back because | could not bear to talk to anybody. | was even
afraid lest anyone should poke fun at me.

Which of the following alternatives brings out the meaning of the word 'sole' in the
passage clearly

A:-Nobody

B:-Only

C:-Few

D:-A few

Correct Answer:- Option-B

Question82:-Which of the following statement is/are correct about the narrator?
(i) The narrator is an average student

(i) The narrator is a timid person

(ili) The narrator has no friends

(iv) The narrator does not have the habit of telling lies.

A:-Only (i) and (ii)



B:-Only (ii) and (iii)
C:-Only (ii) and (iv)
D:-All of the above (i), (ii), (iii) and (iv)
Correct Answer:- Option-D
Question83:-What made the narrator run back home as soon as school closed?
A:-The narrator hated school
B:-The narrator's home was far away
C:-The narrator was afraid people would make fun of him
D:-The narrator's father was very strict
Correct Answer:- Option-C

Question84:-The following sentence has three underlined parts labelled (A), (B) and
(C). Find out whether there is any error in any underlined part and indicate your
answer in the answer sheet against the corresponding letter; i.e. (A), (B) or (C). If
you find no error, your answer should be indicated as (D).

There was little water in the pot, which was just sufficient to quench my thirst.

A:-There was little water in the pot

B:-Which was just sufficient

C:-to quench my thirst

D:-No error
Correct Answer:- Option-A

Question85:-The following sentence has three underlined parts labelled (A), (B) or
(C).Find out whether there is any error in any underlined part and indicate your
answer in the answer sheet against the corresponding letter; i.e. (A), (B) or (C). If
you find no error, your answer should be indicated as (D)
Fifty rupees is too much for the old man

A:-Fifty rupees

B:-is too much

C:-for the old man

D:-no error
Correct Answer:- Option-D

Question86:-Which of the following alternatives brings out the meaning of the
phrasal verb 'spring up' clearly?

A:-suddenly appear
B:-flowered

C:-stood

D:-ran fast

Correct Answer:- Option-A

Question87:-Fill in the blank with suitable preposition. Choose from the alternatives



given.

The plane stopped... Delhi on the way of France./
A:-at
B:-in
C:-on
D:-beside
Correct Answer:- Option-A

Question88:-Which of the following statements is/are correct about a good
language learning task?

i. The task involves learners actively

ii. The task has meaning and purpose

iii. The task has clear language learning goals

iv. The task is productive

A:-only i, ii

B:-only ii, iii

C:-only ii, iv

D:-All of the above i, ii, iii and iv

Correct Answer:- Option-D

Question89:-Which of the following statements is/are correct about the objectives of
teaching language at the early stages?

i. Build familiarity with the language among learners

ii. To expose pupils to the sounds of language in a structured way

iii. To expose pupils to common vocabulary items

iv. To give pupils confidence

A:-only i and ii

B:-only ii and iii

C:-only ii and iv

D:-All of the above i, ii, iii and iv
Correct Answer:- Option-D

Question90:-Which are the receptive language skills? Choose from the alternatives
given

A:-Listening and Reading

B:-Reading and speaking

C:-Speaking and writing

D:-Listening and writing

Correct Answer:- Option-A
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Correct Answer:- Option-B
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Correct Answer:- Option-C
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Correct Answer:- Option-C
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Correct Answer:- Option-D
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Correct Answer:- Option-C
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Correct Answer:- Option-D
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Correct Answer:- Option-B
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Correct Answer:- Option-C
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Correct Answer:- Option-A
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Correct Answer:- Option-C



